Rational Equations (6.4) : Math 098

Method: To solve a rational equation

Muitiply both sides of the equation by the LCD. This is called clearing froctions and produces an _
equation similar to those we have already solved. After solving this equation, make sure to check your
result for extraneous solutions,
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Example 2: Consider f(x):ﬁ—;ila and g{x)= ;—_14*%]62 E;:iw Find all values of o such N
that f{a)=g(a). w@&f"’k
Fay = 9 | N

‘ It
3o -4 = e N % o \/9»
A"~ Fa &lo a4 aF-Zla-~lo
= Bl 4 _ %im . Mﬁm A‘:Lm%m
(-5 5a-2) (&~ 2Xa42) © -F3%a2)

2 Gart)s2)s (an)an 5y ¢ (2as anz)
= %“2 Y S ,,_/‘ﬁ_::; 9(& - o, w5 %.}éﬁ' — da, -»('2”

= Ida = <

““7...»‘:? ey, o 5

[R——

by



Example 3: Solve
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Example 4: Find all values of x for which the rational function g{x) = X705 equal to 1
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Example 5: For the functions f(x) = x;j and g{x)= 2—35;—8, find all values of a for which
fla)=g(a). -
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